N = 0l & At & M A

20228 = 20l A LB H WA OIE D
M 08I ED
HH: B8 U JIEAE
HAd=2X (2 &HH)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
= 66,564,313 70,311,396 N3,747,083
= 31,941,978
Jl 3,163,833
Al HI 26,411,745
Tl 5,046,757
2 IIEXA 66,506,227 70,252,310 N 3,746,083
= 31,936,978
J| 3,163,833
Al HI 26,411,745
Tl 4,993,671
P~E=-DN| 7,470,262 5,781,213 1,689,049
= 3,721,711
J| 668, 149
Al HI 2,032,849
=1 1,047,553
ALINA XS HEEH 297,460 209,000 88,460
J| 148,730
Al HI 74,365
-] 74,365
307 2I2t0| ™ 297,460 209,000 88,460
J| 148,730
Al Hl 74,365
Tl 74,365
05 QIZ2tRE 2 297,460 209,000 88,460
OHUINEXNRALAH 2 297,460,000 297,460
J| 148,730
Al HI 74,365
24 74,365
FELADIIE XN 165,620 140,000 25,620
= 82,810
Al HI 82,810
307 2iz2to| A 165,620 140,000 25,620
= 82,810
Al HI 82,810
05 QIZ2tRE 2 165,620 140,000 25,620
OJNsd ey 165,620,000 165,620
= 82,810
Al HI 82,810
2=20lLtsH 29 329,076 130, 260 198,816
J| 164,538
Al HI 82,269
24| 82,269
307 QI2t0| ™ 329,076 130, 260 198,816
J| 164,538
Al H] 82,269
24| 82,269
05 QIZtREZ 329,076 130, 260 198,816




M 08I ED
E: 28 9 HHAL
e 8 =X (2 &HH)
SN EHD B (3H) - MEAY - BAS Ol &F 04 ﬁlgﬁ HDZ2
O2=s=20tU=sH A 329,076,000& 329,076
J| 164,538
Al HI 82,269
Tl 82,269
ALAINAXNKAHE SALRF EXNEE XA 2,200 1,800 400
Al HI 2,200
307 2I2t0| & 2,200 1,800 400
Al HI 2,200
05 QIZtR ES 2,200 1,800 400
OHLUINEXNKALAEH SAA EXNEZE K&
2,200,000& 2,200
Al HI 2,200
ololsE8 X& 2,277,689 3,130,127 A 852,438
= 1,594,383
Al HI 341,653
24l 341,653
308 XHXIGH SO0l & 2,277,689 3,130,127 A 852,438
= 1,594,383
Al HI 341,653
I 341,653
11 B 2SHUSEANRE AIS Y 2,277,689 3,130,127 A 852,438
Oootol=s XA 2,277,689,000& 2,277,689
= 1,594,383
Al H] 341,653
T 341,653
otolE= Gotdl X 27,351 27,351 0
Al HI 27,351
301 et M= 27,351 27,351 0
Al HI 27,351
01 AMfSIEXEE 4562 27,351 27,351 0
OotolE= Hotol N 27,351,000 27,351
Al HI 27,351
Hotgd ol2d 2,680,000 0 2,680,000
= 1,977,000
Al HI 351,500
T 351,500
301 et A= 2,680,000 0 2,680,000
= 1,977,000
Al HI 351,500
T 351,500
01 Al E & A 452 2,680,000 0 2,680,000
OOt o2 2,680,000,000& 2,680,000
= 1,977,000
Al HI 351,500
24| 351,500
EMOIZE SAXE S 535,000 0 535,000




AN &8Iz
Ha: 28 2 JFAL
Sel: =T (B9 ®R)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
Al'HI 535,000
301 et A= 535,000 0 535,000
Al HI 535,000
01 Al B & A 462 535,000 0 535,000
O=EMolZE SAXAS 535,000,000 535,000
Al Hl 535,000
218 S M XK 2 (Al 85,000 630,000 A 545,000
Al HI 85,000
301 dEtE M= 85,000 630,000 A 545,000
Al H] 85,000
01 Al B & A 462 85,000 630,000 A 545,000
O21@ S AR 2 (AlHl) 85,000,000 85,000
Al HI 85,000
SAMIAS3S 150,000 150,000 0
301 et M= 150,000 150,000 0
01 Al E& A 252 150,000 150,000 0
O=mMolI=zANE s&XEE2 150,000,000 150,000
CIE23IEs XN|HdH 29X 240,340 230,800 9,540
J| 120,170
Al HI 120,170
307 2Iz2to| & 240,340 230,800 9,540
J| 120,170
Al HI 120,170
05 QIZ2tRE 2 240,340 230,800 9,540
OUSSIEXN]ANH 249 X
240,340,000 240,340
J| 120,170
Al HI 120,170
Ct2std E4d3 AP ] 469,421 417,742 51,679
9] 234,711
Al HI 234,710
307 2Iz2to| & 469,421 417,742 51,679
J| 234,711
Al HI 234,710
05 QIZ2tREF 2 469,421 417,742 51,679
OUSR3IHE L2 S AU A 271,680,000 271,680
J| 135,840
Al Hl 135,840
OLUESIE At &2l XN 35,850,000 35,850
J| 17,925
Al HI 17,925
OUERFIHE olsdIsstd =4
33,943,000 33,943
J| 16,972
Al HI 16,971




AN GEIEY
g 25 ¢ HEXNE
el ot e =X CEEEED
= - — L=
SA - BB B () - MM - BES Ol &t o San HmEET
OUEsitE Xt odogd XA
76,160,000 76,160
J| 38,080
AlHI 38,080
OZs0|2X SHAMH A XI& 31,788,000 31,788
J| 15,894
Al HI 15,894
OZE0I2A A&2s XA 20,000,000& 20,000
J| 10,000
AlHI 10,000
Ch=2shtd W=sX&E 6,000 6,000 0
307 gl2tol & 6,000 6,000 0
05 BIZHRIE 3 6,000 6,000 0
Ot=23otd ns XN (FHEDA XE)
6,000,000 6,000
CtZ3t olal s& 15,000 23,000 A8,000
307 21201 A 15,000 23,000 A8,000
05 RIZt2lEt = 15,000 23,000 A8,000
Ootsti2st WEXNE (U3t 2AE IHH S)
10,000, 000& 10,000
OUEsIts s=2stdE (MU S)
5,000,000& 5,000
Ct2tXJMEH SML SXNEAE s 2,400 2,400 0
Al HI 2,400
307 21201 A 2,400 2,400 0
Al HI 2,400
05 RIZt2IEt = 2,400 2,400 0
OUZSIEXNJEE SAA SXNEAE Xz
2,400,000& 2,400
Al HI 2,400
Ct2tHEXNJEEH SAME A2 =5 X 3,603 0 3,603
AlHI 3,603
307 glz2+ol & 3,603 0 3,603
AlHI 3,603
05 RIZt2IE = 3,603 0 3,603
OUZSIIEXNJEE SAA A2 22 =
PNE-:! 3,603,000& 3,603
AlHI 3,603
=4 JI3Ed dEga 29 135,036 122,201 12,835
= 67,518
AlHI 67,518
307 glz2+ol & 135,036 122,201 12,835
= 67,518
AlHI 67,518
11T MIEXASEX 135,036 122,201 12,835
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AN GEIEY
g 25 ¢ HEXNE
el 0= X (S &2)
SA - BB B () - MM - BES Ol &t o San HmEET
OWHLZESIE Al =REHE &3  3,000,000& 3,000
HEHH 22 s N2 10,500 10,500 0
307 glz2+ol & 10,500 10,500 0
02 QIZtE M AHE X 10,500 10,500 0
o4t s 24&Es N&E 10,500, 000& 10,500
=0 g8dAH 25 2 7,000 7,000 0
Al HI 3,500
I 3,500
201 Let24d] 7,000 7,000 0
Al Hl 3,500
I 3,500
01 At 2teltl 7,000 7,000 0
Od4gd=due gdMdAH 5 29
7,000,000& 7,000
Al 3,500
- Hl 3,500
stR2 Jtd =X 58 3,913,448 3,389, 121 524,327
= 126,900
J| 2,495,684
Al HI 1,289,016
I 1,848
MAZOH(2XESAE) 141,000 141,000 0
= 126,900
Al HI 14,100
301 LA F 141,000 141,000 0
= 126,900
Al HI 14,100
01 AR 2& A5l 3 141,000 141,000 0
OZXNESAE dAHSA 141,000, 000& 141,000
= 126,900
AlHI 14,100
SUESANE 29 380,419 380,419 0
AlHI 380,419
307 21201 A 380,419 380,419 0
Al 380,419
10 AL SXNAIEEE2EHEX 380,419 380,419 0
ORXNESAE 29H| 379,919,000& 379,919
Al HI 379,919
ORXNESAE SAL EXNZAUE XS
500,000& 500
Al HI 500
SUESAYE 4% ANSFEHIS NA 40,000 40,000 0
AlHI 40,000
301 LEAZ 40,000 40,000 0
AlHI 40,000




M 08I ED
B 88 U RIS
ool R0 )Y =X B3 CERED
SN EB S (3H) - NEAY - BES ofl &k o San HDE2
01 M BEEESG2 40,000 40,000 0
ORXNESAIAE EAK NHEEHZ X
40,000,000& 40,000
Al H] 40,000
SIERIIE AlE 24K AEXES X3 17,782 17,782 0
Dl 8,891
Al H] 8,891
307 QI2t0| ™ 17,782 17,782 0
Dl 8,891
Al H] 8,891
11 AMIASAAEE X 17,782 17,782 0
OYaXt Adgxlg X 17,782,000 17,782
Jl 8,891
Al Hl 8,891
SIER2IIE SXAIE JHgZz )3 XA 2,500 2,500 0
Al H] 2,500
307 QI2t01 & 2,500 2,500 0
Al HI 2,500
11 A SAAEE X 2,500 2,500 0
OstR2IE =EXNAE HEZz08 XA
2,500,000 2,500
Al HI 2,500
SIRERIIETYE 4=H & XN 3,030,652 2,506,589 524,063
Dl 2,424 522
Al HI 606, 130
301 LEtE M= 3,030,652 2,506,589 524,063
Dl 2,424 522
Al H] 606, 130
01 MSIEEE G2 3,030,652 2,506,589 524,063
OstEER2II=E H ¢=sH S N
3,030,652,000& 3,030,652
Dl 2,424 522
Al H] 606, 130
SHRE2ItE X4 X3 217,054 217,054 0
Al H] 217,054
301 et M= 217,054 217,054 0
Al H] 217,054
01 MBI BEEAESG2 217,054 217,054 0]
O=s10M WEH, 23| 215,246,000 215,246
AlH] 215,246
OstE2IJIE MH(Dssd) sl X
1,808,000& 1,808
Al HI 1,808
SIS =AHAS 1,100 1,100 0
Al HI 1,100




M 08I ED
Ha: 28 2 JFAL
ool R0 )Y =X B3 EERED
(o
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
301 LEHZ 1,100 1,100 0
AlHI 1,100
01 MI2EZE 06z 1,100 1,100 0
FAUNE FAHAXNH 1,100,000& 1,100
Al 1,100
44 o282 ots2=sHl XA 35,100 35,100 0
J| 28,080
AlHI 7,020
301 LPEAZ 35,100 35,100 0
J| 28,080
AlHI 7,020
01 MEIBEE 2053 35,100 35,100 0
OF¥ad 822 I8 XN& 35,100,000& 35,100
J| 28,080
AlHI 7,020
S2XAESA4E Ol0lESEAMEIA K& 39,341 39,341 0
J| 27,539
Al 11,802
307 21201 A 39,341 39,341 0
J| 27,539
Al 11,802
10 M2 SXNANEHE2IHEX 39,341 39,341 0
OZXESAE Ol0ISsSAHHA IR
39,341,000 39,341
J| 27,539
Al 11,802
SIRERAIE AS=ERRFA o124H s XN 6,652 6,652 0
J| 6,652
301 LA F 6,652 6,652 0
J| 6,652
0B MBI ERRIBAS 6,652 6,652 0
OStREZAIE AS=223 224  X&
6,652,000& 6,652
J| 6,652
SFRERAIE ASIERRF SAldl 1,848 1,584 264
301 LEtEBA S 1,848 1,584 264
0B M ERRIABHS 1,848 1,584 264
OSRZAE M=S22F S4H K=
1,848,000& 1,848
g R0 S48t =4 55,122,517 61,081,976 25,959,459
= 28,088,367
AlHI 23,089,880
4l 3,944,270
geo2sz XA 21,449,933 26,597,148 A5,147,215
= 16,087,450




AN GEIEY
Ha: 28 2 JFAL
el g KO0t 4018 &4 (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
Al'H] 3,753,738
L Hl 1,608,745
307 glz2tol & 21,449,933 26,597,148 A5, 147,215
= 16,087,450
AlHI 3,753,738
T Hl 1,608,745
05 RIZHRI &t 3 21,449,933 26,597,148 A5,147,215
Ogwot2ss XA 21,449,933,000& 21,449,933
= 16,087,450
Al 3,753,738
T Hl 1,608,745
Sy B3 K& 11,260,434 11,260,434 0
Al 11,260,434
307 21201 A 11,260,434 11,260,434 0
Al 11,260,434
05 RIZt2IEt = 11,260,434 11,260,434 0
OFctd 28z K& 11,260,434,000& 11,260,434
AlHI 11,260,434
Ny NI (H0lE ololsots) 3,934,667 7,731,337 A 3,796,670
= 2,951,000
Al 688,567
- Hl 295,100
301 LEd = 3,934,667 7,731,337 A 3,796,670
= 2,951,000
AlH 688,567
T Hl 295,100
01 MI2EZE 06z 3,934,667 7,731,337 A 3,796,670
ONggs=4 & 3,934,667,000& 3,934,667
=2 2,951,000
Al 688,567
I 295,100
ot XA 2,814,370 0 2,814,370
= 2,110,777
AlH 492,515
L Hl 211,078
301 LEXS 2,814,370 0 2,814,370
= 2,110,777
AlHI 492,515
L Hl 211,078
01 MEIBEE 2053 2,814,370 0 2,814,370
Oogor=& X& 2,814,370,000& 2,814,370
= 2,110,777
AlHI 492,515
T Hl 211,078
AM2ZHESMEIA HS K& 84,000 84,000 0
= 42,000
Al 21,000




M 08I ED
M 8 2 JIEXE
el o - R0F RADIY X4 (el @2)
- - _ L3
SN EHD B (3H) - MEAY - BAS Ol &F 04 ﬁlgﬁ HDZ2
- HI 21,000
308 XHXIEHMSOIA 84,000 84,000 0
= 42,000
Al HI 21,000
I 21,000
112/ 2SUHUSHE A EAE AT Y| 84,000 84,000 0
OANMZtHIESAHHIA HZ2 X 84,000,000 84,000
= 42,000
Al Hl 21,000
=1 21,000
Helold 2 XK (WHwW ) 79,950 89,664 N9,714
= 47,970
Al HI 22,386
24| 9,594
307 QI2t0| ™ 79,950 89,664 N9,714
= 47,970
Al HI 22,386
24| 9,594
10 A EXAEEHES2IGH EX 79,950 89,664 N9,714
OWelold WHW=-d XH 79,950,000 79,950
= 47,970
Al HI 22,386
T 9,594
oglold 22X (XH2H|) 4,800 2,230 2,570
= 2,880
Al HI 1,344
T 576
307 2Iz2t0| A 4,800 2,230 2,570
= 2,880
Al HI 1,344
Tl 576
10 M SAANEEHESIGHEX 4,800 2,230 2,570
OXMNEROIGE0IE XM&F2HH X
4,800,000& 4,800
= 2,880
Al HI 1,344
T 576
HEXNEAHE 0 & X&F2HH X 21,000 16,200 4,800
Al HI 21,000
307 2Iz2t0| & 21,000 16,200 4,800
Al HI 21,000
10 M SXNANEEHESIGHEX 21,000 16,200 4,800
OFEXNANHe 0 Ex2dEY Nd
21,000,000& 21,000
Al HI 21,000
HE0XNKNHe 0 EF2dEd AH 72,000 72,000 0




M HEIIED
M 28 2 XA
el & - 20t FHIIEL =4 (&)
L=
SN FHE - B(BA) - MRAY - BHES Ol &t o4 San Hl B E2
307 2Iztol ™ 72,000 72,000 0
10 MBI ZXNANEHI2IHES 72,000 72,000 0
OF=ROXNANE0E &2l XA
72,000,000& 72,000
Olglold d&dsts & S AMH X2 74,630 88,400 213,770
AlH 74,630
307 Qiz2tol & 74,630 88,400 213,770
Al 74,630
TASIS XA E & 74,630 88,400 A13,770
ONEold &sts & S AH X2
74,630,000 74,630
AlHI 74,630
OBl 0lE ZclA2 MUIA XI& 800 734 66
AlHI 800
307 21201 A 800 734 66
Al HI 800
1TAFSISXIAFE E & 800 734 66
OO0t el old 22lAZ8 AMblA K&
800,000& 800
Al 800
2380ao0ld K& 764,075 764,075 0
= 458,445
Al HI 213,941
I 91,689
307 21201 A 764,075 764,075 0
= 458,445
Al Hl 213,941
2 HI 91,689
10 ALSISXAIEEER2IHEX 764,075 764,075 0
OZ238g0eold X 764,075,000 764,075
- 458,445
AlHI 213,941
I 91,689
S8l Z2& oAl K& 61,200 61,200 0
AlHI 61,200
307 gl2tol & 61,200 61,200 0
AlH 61,200
10 MBI ZXNANEHI2IHES 61,200 61,200 0
O=380elold Zeld oy X&
61,200,000& 61,200
AlHI 61,200
ESswAA AL X 7,215,129 7,215,129 0
= 4,329,077
Al 2,020,235
-4l 865,817




M 08I ED
3 8258 L JIEXE
oelr @ R0 FAI £4 CER-ED
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
307 2Iz2to| & 7,215,129 7,215,129 0
= 4,329,077
Al HI 2,020,235
T 865,817
10 MM SAAEEHESIGHEX 7,215,129 7,215,129 0
ONBIOIE SALR o1H4Hl XA
7,215,129,000& 7,215,129
= 4,329,077
Al HI 2,020,235
I 865,817
ESNA2A HRMH XN (BEXWACI2AH]) 1,271,296 1,271,296 0
= 762,778
Al HI 355,963
T 152,555
307 2Iz2to| & 1,271,296 1,271,296 0
= 762,778
Al HI 355,963
T 152,555
10 M SAAEEHESIGHEX 1,271,296 1,271,296 0
ONelold BXWA o0AHH X
1,271,296,000& 1,271,296
= 762,778
Al HI 355,963
T 152,555
ESNA2A HRMH NI (2SFIAH]) 2,154,900 2,154,900 0
= 1,292,940
Al HI 603,372
T 258,588
307 2Iz2t0| & 2,154,900 2,154,900 0
= 1,292,940
Al HI 603,372
T 258,588
10 M SXAEEHESIGHEX 2,154,900 2,154,900 0
ONeold BExA 22&8dMAd K&
2,154 ,900,000& 2,154,900
= 1,292,940
Al HI 603,372
T 258,588
HEXNJNHE 0 & EKuA SXx=E X3 24,840 24,840 0
Al HI 24,840
307 212t0| & 24,840 24,840 0
Al HI 24,840
10 M SXANEEHESIGHEX 24,840 24,840 0
OFEXNKANHBIO0IE ESWA 22X &
24,840,000 24,840
Al HI 24,840
HEOIXNE020lE BEsWA 22X+ X 1,301,400 1,301,400 0




M 8 EH
. 21 2 IHEXE
Sel g R0t S48 £4 (S &2)
SN EB S (3H) - NEAY - BES ofl &k o San HDE2
Al'H] 1,301,400
307 QI2t0| ™ 1,301,400 1,301,400 0
Al H] 1,301,400
10 Al SXAIEEE2IHIEX 1,301,400 1,301,400 0
OFR0NYNR0IE ESWA 22X+ XA
1,301,400, 000& 1,301,400
Al HI 1,301,400
HE0XNENHE 0 BExsWA 2505 N 73,000 73,000 0
Al H] 73,000
301 EtE M= 73,000 73,000 0
Al H] 73,000
01 M BEEELG2 73,000 73,000 0
OFSOINRORO0Y ESDA B D54
X & 73,000,000& 73,000
Al H] 73,000
H20XNJ3AHe 0l X2l o4 X& 134,662 134,662 0
AlH] 134,662
307 212t0| & 134,662 134,662 0
Al H] 134,662
10 Al SXAIEEE2IHIEX 134,662 134,662 0
OFROXNINHS0IE xeld 2AHH X
134,662,000& 134,662
Al H] 134,662
UG R0I0HEI0& ExAI E£22E X 18,000 18,000 0
Al H] 18,000
307 2I2t0| ™ 18,000 18,000 0]
Al Hl 18,000
10 M SXNAEEHESIHEX 18,000 18,000 0
OFMWSROINO0IE ERDA S4224g
K& 18,000, 000& 18,000
AlH] 18,000
HHE KOO 2I0IE XSAFH 22&HAH X 3,600 3,600 0
Al HI 3,600
301 dEtE A= 3,600 3,600 0
Al Hl 3,600
01 A3 B & A %352 3,600 3,600 0
OXMEROINEI0IE XIEAF 223 A H|
X& 3,600,000 3,600
Al HI 3,600
ZOHOLE 20l REIIAQI A K& 4,800 3,600 1,200
Al HI 2,400
2| 2,400
307 212t0| & 4,800 3,600 1,200
Al HI 2,400
2| 2,400




2N

o
HH: B8 Y JIEAE
Sl g - R0 FAIIY T4 CERED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
10 AL SXNAIEEE2EH EX 4,800 3,600 1,200
OXOMHOIEM U 0l E XE&IIAF Q1248 XI&
4,800,000& 4,800
AlHI 2,400
L Hl 2,400
FR2UHEH 2¢ 6,100 6,100 0
= 3,050
AlHI 1,525
T Hl 1,525
301 LEdZ 6,100 6,100 0
= 3,050
AlHI 1,525
- Hl 1,525
09 HALAHIX RS 6,100 6,100 0
ORZI[LIHEH 2¢ 6,100,000& 6,100
= 3,050
Al 1,525
I 1,525
olold XI& 212,738 227,630 A 14,892
201 LBt | 17,250 27,510 A 10,260
01 At 22l 17,250 27,510 A 10,260
O2XHHeold EX s dUHE
14,000, 000& 14,000
Oagdus A& S 2,250,000 2,250
O0eold 3% MR A= 1,000, 000& 1,000
203 R =& 648 0 648
03 AIMF=XH R =AY 648 0 648
OBSYL Yexa 720,000 *90% 648
307 21201 A 192,840 198, 120 A5,280
11T M3 SXAISEEX 192,840 198,120 25,280
oogold st A= XI& 1,000,000& 1,000
Ongold Hgsl XA 2,000,000& 2,000
Ooogold d&dl X& 40,000,000& 40,000
Oogold gl XI& 78,000,000& 78,000
OXorEogold dIIes XN&
100,000& »12& 1,200
OFY, UBUE0T SASYE 52| e
Hl X & 1,000,000 «2J4 & 2,000
oolgoly aezga 24 X&
68,640,000& 68,640
401 Al HIZ 2 048I 2,000 2,000 0
01 A& HI 2,000 2,000 0

OHM3E Ald=E J188 E9

1,000, 000% 23] 2,000




2N

o4
B 88 U RIS
Sel g R0t S48 £4 (S &2)
SA - BB B () - MM - BES Ol &t o San HmEET
oHelold JIsead 101,065 0 101,065
401 Al HI K 201 I 101,065 0 101,065
01 A& Bl 101,065 0 101,065
OXENE0H ML s B2 101,065
SHHOEOIE BA URE 39,800 36,500 3,300
201 L2l 39,800 36,500 3,300
01 At 2t 2l 39,800 36,500 3,300
OdtH0Eold 2R HEs 39,800,000 39,800
SIS ANHEH HE 500,000 0 500,000
AlHI 500,000
401 AIEHI L 201 500,000 0 500,000
Al HI 500,000
01 A& HI 500,000 0 500,000
OSO0ISEAN3EH AE 500,000,000 500,000
AlHI 500,000
FL20IXNA Heol®y 2EOH0 HHEERZ XA 1,438,508 1,438,508 0
Al 1,438,508
307 21201 A 1,438,508 1,438,508 0
Al HI 1,438,508
10 M2 SXNANEHE2IHEX 1,438,508 1,438,508 0
OZBROXNIANEBOE ZEOO HEE2EZE X
2 1,438,508, 000& 1,438,508
Al 1,438,508
ZOOIE 20 0lE R0t HEEX 2F N 820 0 820
Al HI 820
307 21201 A 820 0 820
Al HI 820
10 ALSISXAIEEE2IHEX 820 0 820
OXMHOIMZHE0E R0t HHEX 24 X
el 820,000& 820
Al 820
FHaAAS2a 5,000 5,000 0
= 5,000
HAANS N 5,000 5,000 0
= 5,000
Se0lE=x0 XNYGEos 299 5,000 5,000 0
= 5,000
201 L2l 4,500 4,500 0
= 4,500
01 At 22l 4,500 4,500 0
Se0lE88 XNF9Egosl € 4,500,000 4,500
= 4,500




2N
X ZH -
L= B

el

=
i

2

203 22 & bl 500 500
=2 500

03 Al Z=ZI Q2 = A 500 500

O=S801ZF0 NASEYS ALEX

500,000 500
3 500

HHSHAL (GLINED) 53,086 54,086

=2l 53,086 54,086

o=l 53,086 54,086

201 Yyt A Y| 12,214 13,214

01 AFR 2r2l bl 10,714 10,714
SE VTP -¥| 5,184,000 5,184
ORMeg Iyl 5,530,000 5,530

02 222l 1,500 2,500
osmz 1,500,0002 1,500

202 01 H| 37,632 37,632

NENEE 37,632 37,632
OJI2LD40Hl 2800008 162« 128 x70% 37,632

203 &2 Y| 3,240 3,240

VEPETEESIT 3,240 3,240
ORM2gA2 =AY 3,600,0002 *90% 3,240




